Sr Questions

1 Estyl butyrate has flavour like

2 Ester with raspberry flavor

3 Acetic acid reacts with thionyl chloride to form acetyl chloride, which species acts as

nucleophile in the reaction

4 Carboxylic acids reacts with sodium carbonate, & gas evolved in this reaction

5 An organic compound made from oxidation of ethanol is

Answers Choice

A. Banans
B. Jasmine
C. Pineapple
D. Orange

A. Amyl acetate

B. Isobutyl formate
. Amyl butyrate
. Octyl acetate

C

D

A. SO3
B. SO2
C.Cl-
D. No nucleophile is formed
A
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. CO2

. H2

.CO

. Both a &amp;b

. Formic acid

. Acetic acid
C. Malonic acid
D. Citric acid



